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Determination the oxidation number for the underlined glement.
1. NaSOs 7 2. HNO, D

3. HSe ~ .2 4. NiSO,
5. HCIO ? 6 Aucl; _*3

For each of the following, determine the species being oxidized, the species being reduced, the starting and ending
charge.

o vz HoHdT ) -1

7. C+ H2504 > CO, + 50, + H20 /if
Red = :ng Start Charge = Z{j End Charge = __1_
Oxid= _{' . _ StartCharge=___1 __ EndCharge = 4
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8. HNO; + HI =» NO + I, + H20

Red = f‘vf Start Charge = 3 End Charge aé__

Oxid= __-L-  Start Charge=_ | End Charge = O
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9. g +2HA > MgCl + H
Red = ﬁ Start Charge z 5 End Charge = Q
oxid=_ 1Y} z? Start Charge =___ {3 End Charge =_2.
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10. ZNa + 2H,0 ~» 2ZNaOH + H, _
Red = H Start Charge = / End Charge = 5‘5
Oxid= _{ ; 5 Start Charge = { End Charge = {

Balance the following redox equations in acidic solution.
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Balance the following redox reactions in basic solution.

13. Br, = BrO; + Br-~
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15. Consider the following pairs of half-reactions, decide which of the two half-reactions will occur at the
anode and which will occur at the cathode, draw diagrams for the cells, and calculate the standard cell
potentials:
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